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[Fig06] Z grad evol test || K0930 0.3.6 d13¢512 w/base Bzca61 || FWHM=0.5dex ; AR=1.0 pix || UGCI12816

logt > 6.0

logt > 8.652

logt >9.0

logt > 9.652

logt > 10.0

log MiniSD(>t)

N

log LobnSD(>t)

w,

logaZ flux  yx [ZQ®]

_yx[ZQ)]

log aZ flux

—-0.39
—0.40
-0.41
-0.42
—-0.43
—0.44
—0.45
—0.46

-0.47
—-0.39

=]

—-0.40
-0.41
-0.42
—0.43
—0.44
—0.45
—0.46
—0.477

097

0.8
0.7

B - 4

D%

(-]
v ¢
o
<)

| | | |
.0 01 02 03 04 0

S50

| | |
.6 0.7 0.8

I
0.0
(-d

I

®

..

®
®

o
I
) o
@

Ay yx

0.6
0.5
0.4
0.3
0.2
0.1
0.0

7.

8 80 82
at flux_ yx [yr]



